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Name: __________________________________



1
Which graph represents the solution set of [image: image1.png]x+1] <2



?

	1)
	[image: image2.png]-3-2-1 O 1





	2)
	[image: image3.png]=32 - O |





	3)
	[image: image4.png]-22 -1 O |





	4)
	[image: image5.png]3-2-1 O |







2
Which is the graph of the solution set of [image: image6.png][2x—3] <7



?

	1)
	[image: image7.png]-6-5-4-32-1 0] 2345 8





	2)
	[image: image8.png]-t
6£5-4-3-2-1 01 23456





	3)
	[image: image9.png]3
-§-F-4-3-2-1 01 2 3456





	4)
	[image: image10.png]3
-6-5-4-3-2-] 01 23 4 566







3
Which graph represents the solution set of [image: image11.png][2x—1] <7



?

	1)
	[image: image12.png]5 4391012 345





	2)
	[image: image13.png]012345





	3)
	[image: image14.png]15545





	4)
	[image: image15.png]012 348







4
Which graph represents the solution set of [image: image16.png]|5x—15] < 10



?

	1)
	[image: image17.png]5-432-1 01 2345





	2)
	[image: image18.png]-4-32-1 012345






	3)
	[image: image19.png]54321012345





	4)
	[image: image20.png]5-432-1 012345







5
Which is the graph of the solution set of [image: image21.png][2x-3] £7



?

	1)
	[image: image22.png]6543210123456





	2)
	[image: image23.png]0123456





	3)
	[image: image24.png]0123456





	4)
	[image: image25.png]2-10123456







6
Which graph represents the solution set of [image: image26.png]|6x—7] =5



?

	1)
	[image: image27.png]




	2)
	[image: image28.png]




	3)
	[image: image29.png]




	4)
	[image: image30.png]






7
Which graph represents the solution set for the inequality [image: image31.png][2x+ 3| > 7



?

	1)
	[image: image32.png]




	2)
	[image: image33.png]




	3)
	[image: image34.png]




	4)
	[image: image35.png]






8
Which graph represents the solution set of [image: image36.png][2x+ 1] > 7



?

	1)
	[image: image37.png]«_H—H—o—o—&-)

432101234





	2)
	[image: image38.png]432101234





	3)
	[image: image39.png]01234





	4)
	[image: image40.png]432101234







9
What is the graph of the solution set of [image: image41.png][2x-1] > 5



?

	1)
	[image: image42.png]—2





	2)
	[image: image43.png]—2





	3)
	[image: image44.png]




	4)
	[image: image45.png]-3







10
Which graph is the solution to the inequality [image: image46.png]412x + 6| - 5 < 27



?

	1)
	[image: image47.png]9 -7 -5 -3 -1





	2)
	[image: image48.png]-9

-7

-5

-3





	3)
	[image: image49.png]9 -7 -5 3 -1





	4)
	[image: image50.png]%—o—o—)
-9 -7 5 -3-1 1 3 5







11
Which graph represents the solution set of [image: image51.png]


?

	1)
	[image: image52.png]—4

-3
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0

1

2

3





	2)
	[image: image53.png]-5

4

-3
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0

1

2 3 4 5





	3)
	[image: image54.png]-5

—4
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2

0
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3





	4)
	[image: image55.png]-5

4
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0
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12
The solution set of which inequality is represented by the accompanying graph?

[image: image56.png]e

0887654321 012345678810




	1)
	[image: image57.png]|x-2| =7





	2)
	[image: image58.png]|x-2| <7





	3)
	[image: image59.png][2-x] > -7





	4)
	[image: image60.png][2-x] <=7







13
Which inequality is represented by the accompanying graph?


[image: image61.png]8 34018 8§ 7




	1)
	[image: image62.png]|x+2| =5





	2)
	[image: image63.png]|x+3| =22





	3)
	[image: image64.png]x-1]25





	4)
	[image: image65.png]x-5|22







14
Which inequality is represented by the accompanying graph?

[image: image66.png]20012




	1)
	[image: image67.png]x| =1





	2)
	[image: image68.png]x| =1





	3)
	[image: image69.png]x| <1





	4)
	[image: image70.png]x| =1







15
Solve the inequality [image: image71.png]3|6 - x| <-15



 for x.  Graph the solution on the line below.

[image: image72.png]




16
Determine the solution of the inequality [image: image73.png][3-2x 27



.  [The use of the grid below is optional.]



[image: image74.png]





1
ANS:
1
REF:
068622siii

2
ANS:
2
REF:
088431siii

3
ANS:
1

[image: image75.png]2x-1<7
x<4



 and [image: image76.png]2x-1>-7
x>-3




REF:
080303b

4
ANS:
4
REF:
089030siii

5
ANS:
4
REF:
018727siii

6
ANS:
1

[image: image77.png]6x-7<5
6x<12

x<2



  [image: image78.png]6x— 72~




REF:
fall0905a2

7
ANS:
2

[image: image79.png]2x+3>7
x>2



 or [image: image80.png]2x+34-7
x<-5




REF:
060505b

8
ANS:
1
REF:
089318siii

9
ANS:
1

[image: image81.png]22-1>5
2> 6
X33



.  [image: image82.png]2x-1<-5
2> -4

x -2




REF:
061307a2

10
ANS:
2

[image: image83.png]4|2z + 6] < 32
2x+6] <8



  [image: image84.png]2x+6 <8
EXE

xel



  [image: image85.png]2x+6>-8
2> -14
x3-7




REF:
011612a2

11
ANS:
3

[image: image86.png]4x-5
>

4x-5> 3
4x> 8

X352



 or  [image: image87.png]4x-5

<-1

4x-5<-3
ax <2

xel
7




REF:
061209a2

12
ANS:
1

[image: image88.png]x=2>7
x>9



 or [image: image89.png]x-2<-7
x<-5




REF:
060617b

13
ANS:
2

[image: image90.png]x+322




 or [image: image91.png]



REF:
060707b

14
ANS:
1

[image: image92.png]|a>1
x>lor x<-1




REF:
080806b

15
ANS:


[image: image93.png]3jf-x <15
[6-x>5
6-x>50r6-x <=5

1sxorll €x



.  [image: image94.png]



REF:
061137a2

16
ANS:


[image: image95.png]


 or [image: image96.png]3-2x<-7
-~ <-10

xz5




REF:
011334a2


